WC 200

?@fm@/’ﬂd/ Combosa

a8, e 7.
XABP=RARC
LalP= 4 Qch
/ Th Mostca® che, esiste oM puntly X
B C o c@p. arcsoulte +.c. XL ~ XIa
M, ) o
EGJM(%\'QQQ}
Com‘“ Falko \\W\\\ Qur«‘vo X decoldidf  XPT X Krg
Abc 7 A
RO
c.~\o c b’
L f: ,";‘LL s X7- () 4pq > AT
Q’:'D € s &1—.—(’*
BTN .
OARC = ofr WO
Fado (u“f.\hh < Lowins 37 uyvw dc.
q, =
v =b
b C vv s G [
(W ) S
Seti OAbcz £ unhnva.
Torvordo G p1da

rl ’—’2 —
L il T
PIL,,(’n_,l Nobne drg| T = ~ IV
--)..L POW\'C: a:&’_e he,



2-A PP = 4 ale

>
-

202

T 7z
RN S RN Y PRV
> W Wb

whyt — 2w’
—_— m
3 @ ~\IL\A>6/>J'4) ey o @uﬁwz fy) VW T Ew TV

wE Wry? ((vi-w?)
- 9"d1+ viw? \—u'Lw\Po) ]

wtwryt
2 o L
—= - WtV _(_‘.\
[m» O VW - (peg J

Wowv

Cos'C g, Loverows Mo WL (H') @
Q

(W)
ok (“U\dm ) s Ql(uvwwww) »—/C@

' Wi zw>
(\\l'\ = ((A,\H'\)W*U.W\ ~ P4

M'Z\'_‘}W?



(%) :

We =B
0.2 Al H4omge O UPA
\qul-h' ARP =) 7 PA

BGud ca S= ARO BC
sio T 5 @Qrrcscovih 4 HPq

< Per g Ut g

23\’/5:@ KOS —
S\oug ATnbC —» AS’O o dco

Ya olna QTISs - 0AS - I —_ T 6(6 9’% nao & Re.
% — D —
SO/ZV%/th SW@U@’ S p b2 R— @l
H o1 AC ¢

ﬂﬁ L;S & 2 gSc/
= »nS S c, S
A ,(KS/.}C/ S &56)
ON( 25;" }f’zf/;l'_gﬂ/ Z/C gc)
eS¢ 45"5}’(&5*6 3&5 Lz(f/h(%-; 2Sc) 2 b3S Suly

cyc

D=(5 (LLQ, fczfc) LZ@Vl§A, SA(LZS/N‘ CZ)EC))

0Dge( 4 O -4

/p? ~<eprS, +)/WCEL§31‘CZ c) ?’L}/«(AZ = ©
Lo - xarSa - YW}SA € 2&”'5/)“%)30
Al y-2=o0

Se Refyify => y=2 = ReAN.

?ZaL/fﬂa 57 i &

—— S~ —_— O



Qozscentziche su ARC
E=XxF F=(9,cF,0BF) =(0, ¥+ &)
BD=p-t
AD= dfp,—[ﬂ,&):d+é
AE = Y+t

CC= otx — (deb) =¥
LG =¥ -¢

(=5 -(5-£)= &

6=(o, =6 +E)

D =< ([’,vt\/ A&, O]

Gt(b’-é‘,c&/ ot &) |

X ~ 1

K J@é’( ﬂ;é- q‘tfbé /‘H/;’) T
vee DG A el)(pl) -y () + 2(p-€) (v-€) = O
e B e (a<l) (x4 L) py(p-EICsE) - 2(¥5-EY = O

X (A tE)(54E) 2 +v (p-E)[(p-£) (¢ - (Petl(5+E] [ = O
(L) (el o = Y(p-E) E(fres)
X(d+b) (Bl ¥ =~ Z(¥-) & (pes)
W= ( [-[/ﬁkj (-t (s-¢), Cd’léz)ﬁ(o/f £), [ﬂl’élj(\/édfé’//

</ Epay) Tl +&
/(‘(@-/H / /T?e/’?//-:czf)

- L-2(2:5)T
L/ T/ W ‘”/’ngw(:‘ > k/ - (i“‘ Z%) . p &‘é/”’“ﬁ
EA (s, ¢
= - i(/'\ (ifcx}j( :[*51*(1#3)75_‘«'/_[lf§)/£(j
A+ Z.é‘/o()
P oo ( E(pas), (d+8)¥, luetlpy)
T o= (a,b,c)=(pe 4ot f)
A+ 5 &+ /
Jéé( e%\ f%&) Mouﬁ) =0
= Stk >
@[M) }’5’[’—‘/7 (E;%g




wloit

oAt
@ﬂt@ﬁi_

fp-€

Ve

o+ €]

& (pe&)
=&
oLty
Tld &)

s-C
o+

L
ok ( Gt

T =i Z> fe O

B
T— T
— T

3 S
QROTHR g e Oap

s(et)-p (&)
s

oz
Ndﬁé)) i O

X +
/"t[oftfj !
= O

& (pity)

v-&

Lt
KR{A+<t) -;2 D),
fh-&

o+ )
Wp-L) | =
ﬂ*&) “



